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OI1.04 Oxpana Tpy/ia u TexiHia saver | 46 4 2| 46 | 46 0 0 0
6e3omacHocTH
OIL.05 DKOHOMHUKA OpraHU3aluK 3auer 29 3 0 0 0 1 17 1 12 29
OI1.06 Besonacroctn saver | 29 0 1|17 1] 12| 2
JKU3HEACATEIbHOCTH
OI1.07 Octosbi saver | 29 o |1 17| 1] 12| 2
JEIONPOU3BOJACTBA
ADKQ0 | Ananmmisaz dusmieckas saver | 138 | 130 | 8 | 2 | sa [ 2| 46 | 80 | 2 | 34 | 2| 24 | s8
KyJIbTypa
OBBO Bapuarugnan gacth 6 750 40 (17| 28 | L35 | 63a | 4| 68| 4| 48 | 116
HMKJIa 9 5
0B.00 Obmepassusatomuii 6 463 28 |12 2P| 230 a4 |12 2] 2
MK 4 0
OcHOBBI (PHHAHCOBO
OBb.01 3a4er 74 3 3 51 1 23 74
TpaMOTHOCTV[
05.02 Ociosyi Gesonaciocti saver | 40 31171 23| 4
JKHU3HCACATCIBHOCTH
05.03 Pyccxuii AbiK 1 kyBTYpa saver | 80 4 |2 3|2 4 | s
peun
0Ob.04 Maremaruka 3a4er 80 4 2 34 2 46 80
0b.05 OO01LecTBOBEACHUE 3a4eT 40 4 1 17 1 23 40
0B.06 DHKa 00LIEHHS 40 4 1 17 1 23 40
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